'FMC Technologies Shifter, Dual Counter

Parts List
Issue/Rev. 0.0 (5/13) Bulletin PO01044

The Most Trusted Name In Measurement



Page 2°P0O01044 Issue/Rev. 0.0 (5/13)



Manually Electrically

Iltem Description Qty. Operated Operated
1 Adapter, COUNEr ... 1 004649-001 004649-001
2 Adapter, SoIen0id .........ccovvieeiiiiii e 1 503830-001
3 Arm, Actuating ......oocvveeiiii e 1 503831-001
4 Arm, Actuating ......oocvveeiiii e 1 503823-001
5 Base, Adapter......ooviiiiiiiie e 1 013055-001 013055-001
6 +  Bearing ..o 1 640112-001 640112-001
7 Bearing, Center:

Standard Manual and Electric...........ccuveeeeeeeeennn... 1 502445-001 503815-001

Manual with Microswitch ............cccceeeeiiiiiiieeeeeeeee, 1 503815-001 ...
8 + Bearing, Shaft.......cccoooii 3 002182-001 002182-001
9 Cap, Adapter... .o 1 013054-001 013054-001

10 {7 2 F= 11 o [ 1 065112-001 ...,

11 {012V 1= TR 1 503827-001

12 Clevis, Shifter RO .......c.cvueiiiiiiiiieeeeeeeeee e 1 013066-001 013066-001

13 3 o TSR 1 640397-001

14 Column, Adapter.......eeeeeeiieeeee i 1 013075-001 013075-001

15 Coupling, DFRVE ......oeeiiiiiiiieeeee e 2 008643-001 008643-001

16 Cover, TranSMISSION.........ueieeeiiieeeeeeeeeeeee e 1 013056-001 013056-001

17 +  Gasket, CoUuNter.......couueeiiiiieeeei e 1 002536-001 002536-001

18 (CT=T= 1 TR 1 502447-001 502477-001

19 GEAl, DIVE... e 2 502458-001 502458-001

20 (CT=T= 1 P [0 | 1= R 2 502452-001 502452-001

21 Gear, Shifter:

L B T oY) { o 1R 2 502456-001 502456-001
420 LYo ) { o 1R 2 502454-001 502454-001

22 Gear, Shifter........ueeiiieee e 1 515590-001 515590-001

23 Housing:

Standard Manual and Electric..........cccuveeeeeeeennnnn.. 1 502442-001 514571-001
Manual with Micro-Switch ..........ccceeeveiiiiiiiieeeeee. 1 518863-001 ...............

24 o [0 o 2 7 502449-001 502449-001

25 1 T o 1 006660-001 640395-001

26 1o o] 2 500931-001 500931-001

27 LOCK, Shifter.....coiieeeeeeeeeeeeeee e 1 071450-001 ...

28 NUL, 1/4"-28....e e 1 006155-002 006155-002

29 I U 0 e 2 2 001723-400 001723-400

30 NUL, 1/4"-28....e e 2 e 002077-400

31 Pin, Actuating Arm ... 1 503821-001

32 Pin, ClEVIS ..o 1 515587-001

33 Pin, ClEVIS ..o 1 515671-001 515671-001

34 Pin, Cotter, 1/8 X 1" . e 1 003421-401 ..o

35 Pin, Cotter, 1/16 X 3/8"......cooeereeeeeeeeeee e 2 060575-001 009825-400

36 Pin, Groove, 1/16 X 1/2" .....ooeeeeeeeeeeeeee e 2 006054-002 006054-002

37 Pin, Groove, 5/46 X 3/8" ... 1 006317-002 006317-002

38 Pin, Groove, 3/32 X 3/8" ... 1 060494-002

39 Pin, Groove, 1/8 X 1/2" ... 1 064112-002

40 Pin, PiVOt.....cooeeeieeeeeeee e 1 503826-001

41 Pin, ROIl, 1/8 X 3/8" ...t 2 009829-400 009829-400

42 Pin, Roll, 1/8 X 9/16" ... 4 009892-400 009892-400

43 A0 S Yo |1 N 1 503822-001

44 Plate, DIiVe ...coeeeieeeeeeeee e 1 013081-001 013081-001

45 Plate, POSItiONING .........coviiiiiiiiie e 1 503832-001 503832-001

46 Plate, Shifter ......coooveeeveeeieeeeeeee e 1 503816-001 503816-001

47 Plunger, Manual...........cccooviiiiiiieeeeeeeceeeee e 1 504072-001

48 Ring, Truarc, 3/4" ... 1 060391-001 ...

49 Ring, Truarc, 3/16" ... 4 640386-001

50 Ring, Truarc, 5/16" ... 1 640386-002

51 Ring, Truarc, 3/4" ... 1 640399-001

Issue/Rev. 0.0 (5/13) PO01044«Page 3



Manually Electrically
Iltem Description Qty. Operated Operated
52 Rod, Position Indicator...........cceoevvveeieeeiieiiieeeeeeeee 1 514572-001
53 ROd, Shifter......ueeiiiiieeeee e 1 013065-001 e
54 [ (oo N I = 1 503828-001
55 [ (oo N I = 1 503829-001
56 Roller, Actuating Arm ..........oeievmieeieeeiieeeeee e 1 503820-001
57 Screw, #8-32 X 1/4" ... 2 642096-404 642096-404
58 Screw, #10-32 X 3/8" ..o 6 006045-002 006045-002
59 Screw, #10-32 X 3/4" ... 2 006284-002 006284-002
60 Screw, #8-32 X 3/8" ... 3 006293-002 006293-002
61 Screw, 3/8-16 X 3/4" ... 4 006718-002 006718-002
62 Screw, #8-32 X 5/8" ... 4 002118-400 002118-400
63 Screw, 5/16-18 X 1" e 2 002225-401
64 Screw, #6-32 X 3/8" ... 1 003213-400 e
65 Screw, 3/8-16 X 1/2" ... 8 065159-002 065159-002
66 Screw, 1/4-28 X 1/2" ... 4 007078-400 007078-400
67 Screw, #10-32 X 5/8" ... 10 008338-400 008338-400
68 Screw, 1/4-28 X 5/8" ... 2 009814-400 009814-400
69 SCrew, TENSION .......eieeeeeeee e 1 013299-001 ...
70 Shaft, DIVE ....ceeeeeeieeeeeeeee e 1 013074-001 013074-001
71 Shaft, DIVE ....ceeeeeeieeeeeeeee e 1 502448-001 502448-001
72 Solenoid, 115V 60-Cycle ... 1 640398-001
73 * Coil, 115V B0-CYClE ..o 1 648583-001
74 SPACEN .eee et 4 502443-001 502443-001
75 SPACEN .eee et 3 502444-001 502444-001
76 SPriNG, LEVET ..ot 2 e, 504012-001
77 SPriNG, LOCK...ccciiiiiiiiiiiiie e 1 013298-001 ...
78 Spring, Return ... 1 504005-001
79 Stud, #10-24 X 13/16" ..o 1 504073-001
80 Stud, Accuracy Wheel..........oooiiiiiiiiii e 2 000012-001 000012-001
81 5] (0o JR C 1= R 1 002375-001 ...
82 SWItCh, MICIO e 1 641134-401 641134-401
83 B E=150.01 10 =1 R 1 641587-401
84 LT =] 1= 1 006332-001 006332-001
85 LAY = T =] 2 e, 002917-400
86 LT =] 1= 1 005907-800 005907-800
87 LT =] 1= 2 065003-001 065003-001
88 LT =] 1= 2 642482-406 642482-406
89 LT =] 1= 7 642482-408 642482-408
90 LT =] 1= 10 005791-400 005791-400

+ Recommended stock.
*  Not illustrated.
R Indicates change since last revision.

Publication PO01044 has replaced P0607.01X which has been made obsolete. (5/2013)

The specifications contained herein are subject to change without notice and any user of said specifications should verify from the manufacturer that the specifications are currently

in effect. Otherwise, the manufacturer assumes no responsibility for the use of specifications which may have been changed and are no longer in effect.

Contact information is subject to change. For the most current contact information, visit our website at www.fmctechnologies.com/measurementsolutions and click on the

“Contact Us” link in the left-hand column.

Headquarters:

500 North Sam Houston Parkway West, Suite 100, Houston, TX 77067 USA, Phone: +1 (281) 260 2190, Fax: +1 (281) 260 2191

Measurement Products and Equipment:
Erie, PA USA +1 (814) 898 5000
Ellerbek, Germany +49 (4101) 3040
Barcelona, Spain +34 (93) 201 0989
Beijing, China +86 (10) 6500 2251
Burnham, England +44 (1628) 603205

Dubai, United Arab Emirates +971 (4) 883 0303
Los Angeles, CA USA +1 (310) 328 1236
Melbourne, Australia +61 (3) 9807 2818
Moscow, Russia +7 (495) 5648705

Singapore +65 6861 3011

Visit our website at www.fmctechnologies.com/measurementsolutions

Integrated M. ement Syst

Corpus Christi, TX USA +1 (361) 289 3400
Kongsberg, Norway +47 (32) 286700

Dubai, United Arab Emirates +971 (4) 883 0303

Printed in U.S.A. © 5/13 FMC Technologies Measurement Solutions, Inc. All rights reserved. PO01044 Issue/Rev. 0.0 (5/13)



